

1. 다음 계산 결과를 크기가 작은 순서대로 써라.

$$\textcircled{\text{㉠}} (-8) - 2^2 \times (-1)^3$$

$$\textcircled{\text{㉡}} (-2) + (-3)^2 \div (-1)$$

$$\textcircled{\text{㉢}} 12 \div (-2)^2 - 4$$

$$\textcircled{\text{㉣}} 7 + (-3) \times (-2)$$

 답: \_\_\_\_\_

 답: \_\_\_\_\_

 답: \_\_\_\_\_

 답: \_\_\_\_\_

2. 다음 중 계산이 옳지 않은 것은?

①  $(-3)^2 - (-3) = 12$

②  $-3^2 - (-3) = -6$

③  $-3 - (-3)^2 = -12$

④  $-3^2 + (-3) = -6$

⑤  $(-2)^2 - (-4) = 8$

**3.**  $(-1)^{2011} \times (-1)^{2012} \times 1^{2011}$  을 계산하면?

① 2012

② -2012

③ 1

④ -1

⑤ 2

4.  $(-1)^{100} - (-1)^{51} - 1^{50}$  을 계산하여라.



답:

---